The Math Department at Quarry Lane School has a challenging and
enriching curriculum. We want to ensure each student is well prepared for
the following school year. It's important for our students to keep up with
their math skill over for the long summer break. Studies indicate that
students lose a huge percentage of what they learned from the prior school
year. In order to be proactive, Quarry Lane School Math Department
would like to provide you with the following math grade level
supplements.

These packets are for your student to practice during the long summer
break. Each packet contains practice worksheets. Your student can do the
practice worksheets at their own pace. Please encourage your student to

complete this work and grade it using the answer keys provided.

Have a safe and fun-filled summer!

“Education is a lifelong commitment”o



Date _ __ Class

Seloct the best answern

4]

(411

. Which list contains the first four multiples

of 137

A 13,130, 1300, 13000
B 13,18, 19, 22

C 13, 14, 15,18

D 13 28,389, 52

. Which pair of numbers has 7 as il least

common multiple?

F 721

G 3,4

H 14, 28

J 17

The number 9 is a factor of which of the
following numbers?

B 10 0 108

What is the greatest common factor of
6d% and 1847

F 6d° H 307

G 6d J 3d

. Which number is not composiie?

A9 © 37
B 21 Dot

E et gy 1gmnl NPT
. Find the value of V48,

F 4 H 24
J 58
staternent 1s trua?
8-8-8-8=58)

%‘1‘9 :} : ;? ° ? e 3?}
5.5-5.5.5=5°
6-6.-6=8"

- o108

G 18 J 216

nber and Quantitative Reasoning

9. Round 17.081 to the nearest tenth.
A 17
B 171
C 17.08
D178
10. Which fraction is written in simplest
form?
121 23
F 11 H 3
a5 16
5 J 2
11, Change % o a decimal.
A 04 ¢ 08
B 045 D 0.85
12. What is the ratio of ABto BC, in simplest
form?
A 12 B
8 8
D 12 C
ot H3:2
G2:3 J 403
13. Which of the following has a unit rate of
17 miles per hour?
A 80 miles in 2 hours
B 85 miles in 5 hours
€ 90 miles in 10 hours
0 120 miles in 15 hours
14, Which decimal is equivalent to 22%7?
F 02
&G 0.22
H 2.2
4 22.0



Date Class

Number and Quantilative Reasoning

15. Write 0.000000082 in scientific notation.
A 82 x107°
B 82 x 10°
C 0.82 x 107
D 82x107°

16. Which statement is true?
F Q785 < 70%
G 612 > 816
H % = 309
3.4
J 577
17. Which number set(s) best classifies the
number —57
A natural numbers

B whole numbers, integers
C integers, rational numbers
D

natural numbers, integers, rational

numbers
18. Identify the point graphed on the number
line.

F —15
G 2.2
H —2.5
J —35

Measurement

16, Which measurement is the most
appropriate for the radius of a soccer
ball?

A 4 inches
B 18 inches

¢ 1 foot
0 3ieet

20. What is the length of the turtle?

L9 4 feit
H

T {Hiil!ii
1 2 3

21. How many liters are in 22,000 milliliters?
220 L.

22 L

2215

0.22 L

oW

5



Date Class

iagnostic Asses

Geometry
22, Which of the following represents a ray?
F a

G

B straight
B obluse

¢ right

0 acute

e angle measure of STU?

o
£
oy
&
et
W
T
&M

ol T e Yol
20
o I
L NS
N ¥ ate)
H 70
DeYa
J130°

& vertical angles & linear palr

djacent angles

D supplementary

£y
3

26. Find the measure of angle 1.

110

v

M
A\

F 70°
G 80°
H o0°
4 1100
27. Which figure is not a polygon?

&
AN
™,
AN

Spanaren

28. What is the sum of the interior angles in
a quadrilateral?
F 90°
G o180°
H 360°
J 720°



Dais Class

ni

tic Assesss

Geomelry
29. Classily the triangle.

E‘“’“\}g —

A right
B obluse

C equilateral
0 isosceles

riangle are 32° and
= of tha third

30. Two angles of a !
110°. What is the measure

angla?
Fo2tg° Hotaze
G 1807 4 38°

31. Given the right triangle below, what is x7

10
2' «,44"‘
|
41 e
¢
h”

A 92
B 108
C 84
D 116
22. Find the value of x

P
FU L

p,:;:wmwww"»wgg

10 in.
2410 in

33. *\f‘ hich figure is congruent to this
fg@?

18 7102°

0 < 26

8 N
9"\ j" N

L ,,.W\« g
e S & 18

A C
¢ @{/ \ 24.2 39.6

T 24 8
M 52.8 O

F AABC ~ AMNO
G ANABC ~ ATRS
H OATRS ~ AMNO

4 ATRS ~ ANONM



Class

Geomeflry

38. Triangle DEF and triangle QAS are
right triangles. If ADEF is similar to
MNGARS, and __A.EMW ----- = §5°, which of the
following angles also has a measure of

65°7
A LQRS C ...... . QSR
B LRQS DL LSQR

36. Find the perimeter of rhombus ABCD.

/7WWWMWM? )
H f/
A
T
16.2m
Fo3z4dm H 28244
& 64.8 m J 268,96
37. What is the area of a triangle with a
g +f ters and a base of 16

A 160 sguare meters
P 320 sguare meters
G 840 sguare melers
D 656 square meters

o

38. A rectangle has vertices at P(1, 0),
8, 0), m@? 83, and 801, 8). Whatl is
the area of rectangle PQRS?

F 11 sguare units
& 22 sguare units
30 sguare units

4 150 sguars unils

39, Find the circumference.

A Bl
B 38

C 18w
0 9%

40. The figure below has a line of symmetry.
Which drawing best shows the
completion of the figure?




Name Dats Class

Geomelry
41. Determine the surface area of a 43. What is 224 + 147
rectangular prism with height 5 in., A 16
width 7 in., and length 12 in. B 14
C 12
4 i
/ | D 8
/i. 44, Find the difference. 18 — 6.8
v F 122
4 G 112
H 22
A 24in? J 1.2
B 358 in. 45. Find the product. 0.6 X 1.5
C 420in”? A 0.9
D 840 in? B 9.0
42. Determine the volume of a cube with C 99
side length 12 ft. D 9o
/"' ‘”“"‘““'””’”"“”““"”"‘““"”ﬂ . 46. Divide. 12.24 = 2
,5 F 205
E G 6.12
'§ H 8.24
/ J 24.40
. | 47, Find the product in simplest form,.
F 36 ft° 6.2
. ! = X &
G 144 1 ~ 73
H 864 it’ A S
J 1728 #° s
o2t
c4
1
0 5



Date Class

49.

52. N

o
&

54. cval

What is 5% of 407
& 80
B 20

oIVl

. What is the simple interest on an

investment of $1500 at 5% for 5 years?

The simple interest formula is /= Pri
F 360
G $375

3750

S6000

[

. Subtract, —15 —~ 3

A C %
- 4
£ D g
cvaluate |12 — 14 — 6],
Fo—32 H 8
G -8 J 32

585.

57.

59,

860,

Algebra
Simplify the expression. 2 X (8 — 3) — 6
A7
B4
C 1

0B -2

. Which expression is equivalent to the

expression 6(s — 6)7

F 6s— 6

G s 8

H s 368

J 65— 38

Simplify. 18 — ¢+ 9¢ + 6
A 24 + 8c°

D —18c -+

. Which equation corresponds to the

statement “the length £ of the rectangle
is four times the width w”.

Fw=4-+1¢

Simplify. 5x° - 6x% « x
A 30x°
B 11x’
30x"
11x°

&

)
St

Tvaluate 16 — 3sfor s = b.
=15
G 8
H 5
J 1



Date Class

61.

62.

63.

64.

65.

Simplify. 5g(g — 9
F 6g° — t4gh

Simplify. 9x —
A Bxy
B 14x° — gfyz

What is the product of (y + 2)(y — 8)7
16

'? @
- 16

What is the product of (2x ~ 4)(2x -+ 4)7
A 4x° — 16

2 ~ -
B 4x° + 16x — 16

C 4x? —
D] ,{;axg

86,

87.

70.

Factor 5x° — 15x° completely.
- 2
= Bx”
Do \
x“(5x — 15)
2
Ex“(x — 3)

b W 5 T ¢

J 3x%(x - 5)

Factor the polynomial, X + 5x + 6,
completely.

A o+ B)x 1)

B (x+ 3)x+2)

C (x— 3)x~—2)

8)(x + 1)

‘& F— -
8

;% (ol 2

{j £ 38

E:E Cj s 3{}8

What value of x makes this equation
ue? 2x 4+ 18 = Bx

o )
b !@fﬂ‘" A =
; 1
A X=1p
3
3
g™ £
ooy =£
3
My o=l



Name Date Class

iagno

Algebra
22 Solve A = Lbhfor A, 75. Which is the graph of the function
2 y=4x — 17

- A ¥
o ;
73. Segment CD has endpoints at C(0, 8)
and D(—2, 4). Find the midpoint of B Ly
segment CD , AN T
A (—1,2) '\i
B8 (ﬁy 3? T . s X
S I
c,4 e ek
" G (AT
wo—1,8) 1 Iy
74, i shown is the solution to which :
following inequalities?
{;‘; ¥
0 : 1
T B E S s S T4
-7 G 5 d -3 2 ) / X
S GL“i e
Fod-6=t /
q}; @G?“ AAAAAAAAAAA 2’}4 4
Hoa2d<iz2
g ¥
J o=d > -2 N )
3 »\ o
,,,,, o x
Gl

76. Which pair of linear equations represent
parallel lines?



Dats

Class

Di

Algebra

77. Solve the proportion. & = 75

A x=25 o x=25
B x=10 D x=237

78. What table of ordered pairs corresponds
to the function y = —3x -+ 17

F

x |
....... 2 5
....... ‘i 2
0 1
1 4
2 7
G
X 5
I N
~~~~~~ 1 2
0 -1
1 — 4
2 - 7
M
x |y
— 2 7
— K
0 i
1 —2
2 -5
J
X i
-2 -7
—1 —4
0 B
1 2

79. Which ordered pair corresponds to
point 87

Y
gy
" % 7
\ /
“\ / . X
e
A
J \

¥
5° T
kRS @ x
s M S S
?@ A
w" x°
A (-3.3)
B (-2, 1)
C (3,2
D (-3 —2)
80. Graph the function y = x? — 1 for the

domain of (~2, ~1,0, 1, 2).



Date Class

A

a1.

82.

jebra

Solve for y. ¥° — 16 = 9
A y= *25

g LI
D y==x3

What value completes the square for the
Bx -+ 17

; 2
expression x° —

[
L

83.

&4.

86.

Statistics and Data Analysis
The table shows

i b q Animatl | Total
& number an -

type of animals Pig 50
that are on exhibit | Cow 156
at the 4-H fair. Chicken 28
Find the Horse 78

percentage of

animals that are horses.

A 12% C 50%
B 25% D 312%

Which statement does not represent the
data set? 1,5,3,5,1,2,6,4, 1

The runners completing a 10K run were
asked how many days per week they
train. If 200 runners were surveyed, how
many runners said that they train 4 days
per week?

¢ 80 runners
D 120 runners

A& 8 runners
B 12 runners

Given the graph below, what is f(5)7
9

8

&

> V4

2

1

0 1 2 3 4 5 6 7 8 9
F g H 4

G 6 J 0



Name Dats Class

i,oé we&@’ %@@%ﬁg Probability
87. Which statement can be concluded from 90. Your team uniform consists of one pair
the following? of pants, three shirts, and two vesls.

Which tree diagram can you use fo help
determine ali of the different choices of
uniform combinations?

« |f two angles are complementary, both
angles have measures less than 90°.

e Angle Tand angle U are complementary ——
ngles. ] Vhite Shirt ]{
oo = Vﬁmm% oh it Black Vest
A ms T >80
B ms T+ ml > el [Pantg% Maroon Shi?t}{ Green Vest
o Black Vest
C msT>mell
D msU=<80°
i tonal ; P Green Vest
&8. Which conditional statement is always R fw@ te Shiy g‘—}{' "'2
frue”? G- Black Vest

F I two lines intersect, they are ,;‘WW“ -1 A Green Vest
) r;’ aroon ShirtH
perpendicuiar. e Black Vest
G If two angles in a triangle are acute,
the triangle is an obtuse triangle.

e Green Vest
Gray Shirt |

Black Vest
H If two lines are parallel, the slope of
both lines is the same.
rom——— | (reern Vest

J If a figure is a square, the length of : _ {m hz‘t{“ Shi rt 1
the diagonal is twice the square of the
sum of two side lengths.

Black Vest

Green Vest

i?}amé;] {?s;%&m@n Shirt

89. Select the counterexample that makes Black Vest
the statement false. L e
5 Gray Shirt Green Vest
|n | > n, where nis a real number : e Black Vest
‘ﬁﬁ P omm e 1&
[White Shirt | Green Vest
— i White dhirt | Black Vest
Bn=-z , J ack Ves
1 (Par - Maroon Shirt
ants - Green Vest -
Cn=3 1 ;, E{i’;ray Shirt
D n=25

Hrensyrams Maroon Shirt
-mkﬁﬁ—@gi J Gray Shirt

oy | Green Vest
(Gray Shirt =t

i




)6 G H 23

@3 @H 7Y 7]
i (93 @E 78) O

Dc (DA &
™ N XA 7))
(DL @A @<

@ 1A
DT @B ® v
(7 ¢ @D @53

DY & G @)
‘gA o A ®3
o D F %) ¢
0 TY D (#5)C
22) €L H @H
23)D % @
(6 BT @ H
1lTb/l sPC #C

{4 F H @H

A &) A
| () H ;] _
(94 @ >
W». G>7 62) (5 - B
B D)3 ®»o

2) b €Y G




